6 | 7 | 8 | 9 | 10 |

BIF/XRIL FIHIRFE
3 Operalion pane Control terminal block
o 8 65 8 ‘

14

— e 80 LCDROU =2

59 6 LCD screen
ol

“ON ONIMYYQ SREE

63.6

|
|
|

¢G0€859d

36.

126

—
= (O — ] —)

=
22
E

RN
Shorting-bar

ETHERNET RO 51
Ethernet connector |
ETHERNET 352
Ethernet connector 2

) RS485BIEIRT D2
e — RS485 communication connector 2
—_—— (RS485 COM.2)

M3RY
M3 screw

NV A3y F
[oX

I
I
BEOE

—_——— FORIHFE
—_—— Main circuit terminal block

570 (EUSTE

(Mounting dimension)

—— for 400V model for 200V model

660

EI YT HIERY (M4)
Grounding capacitor
swmh\n screw(M4)

B YT Y HIERY(M4)
Grounding capacitor
switching screw(Md)

[ ]

[RiLI

S/l T3 PE ] Fo—IS5YT

Charge lamp

M8RY
M8 screw

®
- H
.
(15)
-~
&

bii) &)
(18) | 74 (BRGTH 18 Py AEEL{)?S/

(Mounting dimension) o) 6 Namep\ofs direction
210

EHF MERY
Grounding terminal
M6 screw

20 40 25 268

— XS
= | &~ T R
//K | M @ @/ Inverter model Approx. mass
Q )@W VFAS3-2110P 21.3
L VFAS3-2150P 21.3

VFAS3-2185P 21.3

VFAS3-4220PC 28 : ark gre:
sy e T 67 R RAL T35 it ey INVERTER | VFAS3 | 2110P, 2150, 2185P, 4220PC 4300PC, 4370PC

Box color:RALTOI6(Dark qrey) = 3 ,
VFAS3-43T70PC 28.1 Front-cover color :RALTO3S5(Light grey) AP;EE!?A?US TYH’/:’E FORM

@BW%

240.5

218.5
226.5

2 | 2 S ARK ’é‘ KR APPROVED BY|#E CHECKED BY | &1 7| TLE
18 Mar.2019 | 26.Sep.2018 |FSB DATE @ \.\chig M.Tokeushi
[ Ichio [ Ichio |#%8 APPROVED BY|,[RE scaLE | 30.0ct. "I5 | 30.0ct 'I§ ROZASE P71

M.Takeuchi | M.Takeuchi [ZE REVISD B — Bt DESIGNED BY\ B DRAWN BY
Tl R TS 50i soi OUTUNE OF \NVERTER
REEE. of mounting mm 30.0ct."15 | 30.0¢t.°15 TOSVERT VE-AS3 SERIES _

174.5

167.5
%
/
oelLR

Added UNITS. plate 523 CONTENTS HEES DRAWING NO Z REV MARK

jibes 18 TOSHIBA T e | PH583(057

descriptions. Toshiba Schnelder Inverter Corporation

ZE REVISIONS

RE REGISTERED

I

—

\ 2 \ 3 4 I O [ [ [T T TJT \ (& REGISTERED [M] W%
5 6 8 ‘ 9 PRESENT TOO O O O

2182050 PRO




